Контрольная работа №2. Корень п-ой степени

Вариант 1. 

1.   Вычислите :    10 . 
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[image: image3.wmf]х

+

3

= 3 - х.             
 4.Решите систему              
[image: image4.wmf]ï

î

ï

í

ì

=

×

=

-

.

18

,

7

3

3

у

х

х

у


-                                           -                                              -                                          -

   Вариант 2

  1.   Вычислите:    
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    2. Вычислите              (
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 3. Решите уравнение  
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4. Решите систему
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    Вариант 3

1.   Вычислите:    
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2. Упростите выражение   
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3. Решите уравнение   х – 2 - 
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   4. Решите систему
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 Вариант  4
 1.  Вычислите : 
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  2.Упростите выражение
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  3. Решите уравнение  4 + 
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   4. Решите систему
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Вариант 5

1.  Вычислите :   251,5  + (0,25)-0,5 – 810,75            
 2. Упростите выражение   
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3.Решите уравнение   х  - 
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 4.Решите систему   
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Вариант 6

1.   Вычислите :   91,5 – 810,5 – (0,5)-2.            
2.Упростите выражение   
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3.Решите уравнение   х  - 
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4.Решите систему   
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Вариант 7
1.  Вычислите:    
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2. Упростите выражение   
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3.Решите уравнение
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4.Решите систему   
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  Вариант  8       
  1.  Вычислите:      
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 2. Упростите выражение   
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3.Решите уравнение   9 – х = 
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4.Решите систему   
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 Вариант 9

1.  Вычислите:       
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1

4

1

4

1

5

40

10

×

×

.                  
2. Упростите выражение   
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3.Решите уравнение   
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4.Решите систему   
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Вариант 10

1.   Вычислите:  
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2.Упростите выражение
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3.Решите уравнение 
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4.Решите систему   
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Вариант 11

1.  Вычислите:  
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 2. Упростите выражение   
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3.Решите уравнение   
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4.Решите систему   
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Вариант 12

1.  Вычислите:    
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2. Упростите выражение   
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3.Решите уравнение
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 4.Решите систему   
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Вариант 13

1.   Вычислите:  ( 
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2. Упростите выражение  
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3.Решите уравнение   
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Вариант 14

1.  Вычислите: (
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 2.  Упростите выражение  
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 3.Решите уравнение   
[image: image62.wmf]1

2

+

х

- 
[image: image63.wmf]1

-

х

= 
[image: image64.wmf]3

. 
           Укажите наибольший корень.

4.Решите систему   
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Вариант 15

1.  Вычислите:  ( 
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2.  Упростите выражение  
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3.Решите уравнение   
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4.Решите систему   
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Вариант 16

1. Вычислите:  
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 2.  Упростите выражение  
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3.Решите уравнение   
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4.Решите систему   
[image: image75.wmf]ï

î

ï

í

ì

=

+

=

+

.

4

,

1

1

1

у

х

у

х


Вариант 17

1. Вычислите: 
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2.  Упростите выражение  
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3.Решите уравнение   
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4.Решите систему   
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Вариант 18

1.  Вычислите: 
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2.  Упростите выражение  
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3.Решите уравнение   
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Вариант 19

1.  Вычислите: 
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2.  Упростите выражение  
[image: image85.wmf]4

4

2

3

2

2

64

a

b

a

b

a

-

 , если a > 0 ,  b > 0

3.Решите уравнение   
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4.Решите систему     
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Вариант 20

1.  Вычислите: 
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2.  Упростите выражение  
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3.Решите уравнение   
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